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Az 621,685 645,505 223,820
AW FUAINHIA S 25 250,110 267,442 A17,332
aFH =LA 250,110 267,442 A17,332
AFH FUFHEEH 103,520 103,520 0
201 Zet=a | 1,000 1,000 0
03 A= S| 1,000 1,000 0
Oaxd SEUADIIZEHl Ml
1,000,000 *14] 1,000
301 detEa= 102,520 102,520 0
05&-cl-3es24s 101,520 101,520 0
oolg+¢ 200,0002 *29Q! 12 69,600
oolgdo=2 200,0002 x29Q1 %23 11,600
Ool ¥zl +E 20,000 x29Q1 22| x12& 13,920
oty astl 50,0003 «128¢! 6,400
10 HALAHIE Y= 1,000 1,000 0
Ouns & #AS 44 U2
1,000,000 *14] 1,000
AZH FA2g 2L 58,000 71,432 213,432
201 et2E 28,000 28,000 0
02 s==4tl 28,000 28,000 0
08582 & MAl 14,000,000 =14 14,000
Ozl 10,000,000 *14] 10,000
OANEZHIR I 4,000,000 *14] 4,000
401 Al EHI X 2T 30,000 42,000 A 12,000
01 A28l 30,000 42,000 212,000
OgARA F5(015F) LA
30,000,000 *14] 30,000
~x=dH SIXA 87,090 82,490 4,600
201 &er=gy 25,370 25,370 0
01 At 2tcl bl 15,170 15,170 0
Oget+EH| 13,170,000 *14] 13,170
ozggd=+d4 2,000,000 *14] 2,000
02 =244l 10,200 10,200 0
oR#Ee=s 6,000,000 *14] 6,000
OXtg KR Xl 22l 4,200,000 *14] 4,200
202 014 57,120 57,120 0
01 =LHOd I 57,120 57,120 0
OJl2g =0y 4,760,000& x12& 57,120
405 XHakF SH 4,600 0 4,600
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A A2 XA 1,500 10,000 A8,500
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02 &2l 1,500 0 1,500
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AZH AFEEHI 304,212 304,127 85
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03 Al =0l 2,160 2,160 0
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AZH T2 2,052 1,967 85
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04 12 RZ2E2NSE+ 2,052 1,967 85
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axH HYE2I I 67,363 73,936 6,573
axH 5 E23Y| 41,198 38,031 3,167
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O22 o bl 2,000,000& * 14 2,000
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01 I 222G YR F8Y| 6,600 6,600 0
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